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The Test Booklet contains of four parts and 120 questions. Part A has questions on History and
Culture. Part B has questions on Constitution, Polity, Social Justice and International Relations,

Part C has questions on Indian and Andhra Pradesh Economy and Planning and Part D has
questions on Geography. Each part carries 30 marks.
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3. The Question Paper is set in English and translated into Telugu language. The English version will
be considered as the authentic version for valuation purpose.
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is printed on the right-hand corner of the cover page of the Test Booklet. Mark vour Test Booklet
Series |A|or|B|or|C|or|D|in Part C on side 1 of the Answer Sheet by darkening the appropriate
circle with Blue/Black Ball point pen.
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2.

10.

11.

A

(2)

these, you have to select one correct answer and
o circle for the question. If more than one
Blue or Black Ball point pen to make
r stray marks. Use of whitener is

Each question is followed by 4 answer choices. Of
mark it on the Answer Sheet by darkening the appropriate
circle is darkened, the answer will not be valued at all. Use
heavy black marks to fill the circle completely. Make no othe

prohibited. If used, it will lead to invalidation.
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If the answer for Question No. 1 is Answer choice (2, it should be ma
Dy RN B2 500 FHVP MRoPSsR

& DS DeBD0DEED,

e.g: rked as follows :
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Use Blue or Black Ball Point Pen only, failing which your Answer Sheet will be invalidated. Gel
pens/pencils are not allowed. It is not required to darken the second copy separately.
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Please get the signature of the Invigilator affixed in the space provided in the Answer Sheet. An
Answer Sheet without the signature of the Invigilator is liable for invalidation.
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DO NOT fold, tear, wrinkle, tic, staple, do any rough work or make any stray marks on the OMR
Answer Sheet, otherwise your Answer Sheet will be invalidated.
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Using the Whitener/Blade/Eraser or any kind of tampering to change the answers on OMR Answer
Sheet will lead to invalidation.
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Do not mark answer choices on the Test Booklet. Violation of this will be viewed seriously.

JSrErE0OM [DEDIB80D tDBoSoetDd. H2D Er&@ﬂﬂﬂﬂrﬁSs fis0rm DerdosaEi.

Before leaving the examination hall, the candidate should hﬂt}d over the original OMR Answer Sheet
(top sheet) to the Invigilator and carry the bottom sheet (duplicate) for his/her record.
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13.

14.

15.

16.

Calculators, Mathematical/lLog Tables, Mobile Phones, Bluetooth insiruments or any other

Electronic Dovices will not be allowed into the Examination Hall.
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Candidates should stay in the Examination Hall till expiry of Full Time i.e. 2 Hours. No candidate

shall be allowed to leave the Hall in the middle of the examination under any circumstances.
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If any candidate attempts to use any means to cheat/copy etc., he/she is liable for prosecution and
debarment.
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Rnulgh work may be done on the last page of the Question Booklet only. It should not be done
anvwhere else. .
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As per G.0. Ms. No. 235, Finance (HR-I, Plg & Policy) Dept., Date 06/12/2016, each wrong answer
will be penalized with 1/37 of the marks prescribed for the question and that would be deducted
from their total marks.
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Part A
History and Culture

During the Indus Valley  Civilization, the

bends 'I'Ilml'slf':t-."tl:lrirm industry was located ol
‘1) Dholavipy

(2) Hul-:t.-m:rnr'lﬂr
(3 ['fh:'.nhmluru
(4)

Daimabad

Select the Correct statements about religions

belicfs of thy Rigz Vedie Period :

1. ]?}‘u:-a was a celestinl God of the Rig
Vedie Aryans similar to Jupiter of the
Groecks,

II.  Prithvi was considered as the mother of
all Gads,

L. Agni was worshipped as  the
intermediary of taking the offerings to
the deities.

V.

Cow sacrifice was also the part of
worship,

(1) 1,11 and Il only
(2) 11,1l and IV only
(3) 1,111 and IV only
(4) I, Il and IV only

Match the following schools of philesophics
with their theories :

a. Sankhva 1. Predetermined fate

theory

World was formed by the
blending of nature
Considered Atom as
bagis of the world
Advocated materialistic
ideology

b. WVaisheshika II.
c. Lokayata  [II.

d. Ajivika IV.

Choose the correct answer using the codes
given below :

0 b C d
1y 1 v I 11
(2) 1 I11 IV I
3) IV 111 I1 I
(4) 111 I 1V I

2,
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SO,

(1) 1,11 oba%n 11 sSiebad

(2) II, 111 SBckn IV S edsh

(3) 1,111 S0ak IV Sressh

@) LI S0 IV S

Bod Jorod Tpos o8 JTomod
2aEdhod : c

a. ~rOmE 1 Swod QOPS TS B
NET0S0

b, BI2E 1 1HE)B Loonis
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e. STaHés 1 LY 1 DDOTTDE
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n | C d

{1y 1 v | 111

2y 1l 111 v I

L) . A 11 11 1

(4) 11 | v Il
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Hathigumpha inscription of Kharavela gave
the details of irrigation facilities provided in
the Kalinga Region by

(1) Mahapadmananda

(2)  Bimbisara

(3)  Ajatasatru

(4)  Ashoka

Select the correct statements regarding the
inscriptions of Ashoka :

L. They are in Brahmi, Kharosthi, Greek
and Aramaic scripts.

II.  The Monarch’s name was mentioned ag

Ashoka only in Maski and Gurjara
inscriptions.

III. The XIII Rock edict mentioned the
names of the five Greek Rulers as his
contemporaries.

IV. The IV and V edicts mentioned the war
of succession with his brothers.

(1) I, II and III only
(2) II, III and IV only
(3) L III and IV only
(4) I,1II u‘nd IV only

Match the following books with their authors -

a. Prajnaparamita [. Acharya Kundakunda

b. Samayasara II. Sarvavarma

c. Lilavati Il Acharya Nagarjuna
Parinayam -

d. Katantra IV. Kuthuhala
Vyakaranam

Choose the correct answer using the codes
given below :

a b ¢ d
(1) III I I v
12) 1 111 Iv I
(3) III I v I
(4) 1 I Iy

|5}
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0O 2000 G 5 alugren

. 0 Sagron.

(1) LII SoBa%0 I Sredsh

(2) II, 11 0By IV Srebsh

 (3) L 1T Sn0cin IV Sriébadh

(4) L II 0cin IV Aredsh
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235 T ai08 -
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RATETFTR) JOTHTOE -

a b c d
(1) 111 I 11 v
(2) 1 III IV 11
(3) I I v I

(4) 1 IT 111 IV
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9.

10.

Which ol the fallgwing was not the feature of
Uher Guilds duringg (he Gupta Period 7

L Minted Coinn
P
L)
t4)

e necount of Greek (Yavana) invasion

during the reign of Pushiyamitra Sunga is
avanlable

NOv- Autonomons Dodies
Mamtained Armed Dodies
Worked an Bankers

1. G - Sambhita
I Patanjali - Mahabhashyn
111.

IV,  Visakhodatta = Mudrarnkshasa
Choose the correel answer using the codes
gven below ;

i1y LI and Il

2y 1L 1 omdd 1V

(1 LI and IV

4y LIl and 1V

Choose  the correct  statement

Nalanda  University at  the
Harshavardana :

(1) Harshavardana donated 10,000 villages
to the university.

The number of teachers
university were 15,000,
Siluabhadra was the Chancellor of the
university. '
The medium of instruction was Pali.

Ralidasa = Malovikagnimitra

regarding
time of

(2)

in the
(3)

(4)

Match the following taxes :
Neme

n, Navidadere I.

b, Melivamsam 1. Tax on Barbers

¢, Manevana IIL. Tax on Ploughs

d. Tudimeya . Tax on Houses

Tux
Tax on Marriage

Choose the correct answer using the codes
given below

f b C d
(1) 1 111 IV I
(2) 1l IV 111 |
(3 1 11 IV 1]
(4) IV Il I 11

| 6]

7.

(2

(2)

10.

Bols B35 26 o SwoTd Zow
el 0 o)

(1) SiEolns s
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(4)  zrrodr ST
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SYALSY A%

I, ol -doare

1. SHdoud - SHS'odl

., s -Sredshiylng

IV. Drpds -maoss

BIDS 2S00 SEOH SiTrfoD JBS
DEPTR) DOTHT 0

(1) 1,1 56csn I

11, ITI Slain IV

(3) 1,11 SoBchn IV

(4) 1,11 H0c IV
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10,000 [[PadPead) Ces a3 Jedd.
LTS G0
RO} 15,000.

(3) RO DI DTrrach Hond.
(4) SO SrS00 7O,
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L 306m8 L agmon
b 305030 1L
& Smas -

d.
DDA V. gymsnen s
OMS BES FHherssy aHTAOD DB

RATTTR) NOHECS -

a b C d
M 0 VoI
@ I 1y m I
Wi IE.
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11.

12,

13.

" d. Perumakkal IV.

Arrange the following temples of Ellora in

chronological order according to their time of
construction :

1. ~ Ravan ki Khai
II.  Knailasanatha
III.  Dashavatara
IV.  Dumar Lena

Choose the correct answer using the codes
given below : -

Ly ILIV,IIL X
2y I IIIV,II
(3) IILI,IV,II
(4 III,IV,IL I
Match the following terms with their

meaning related to village administration of
the Cholas :

a. Varivam I. Ward

b. Kudumba II. Lottery system

c¢. Kudavolai I1I. Member of the village
assembly

Committee system

Choose the correct answer using the codes
given below :

a b c d
(1) IV 1 III 11
(2) 1II I11 I v
(3) IV I I 111
4y 1 IV 111 II

Which of the fﬂllﬂWing‘ highwa}rg existed
during the rule of Kakatiyag

1. Orugallu - Tripuranthakam — Nellore
II. Dwarasamudra - Ballarj — Orugallu

II.  Motupalli - Tripuranthakam — Ballari

IV. Palnadu - Nalgonda - Nekarikallu -
Orugallu

Choose the correct angyer using the codes

given below :

(1) TandIlonly

(2) II and III only

(8) IIl and IV only

(4) IandIVonly

{(7)

11.

12.

13.

A
F¢ Aoye Soody  @aDEor
serdior (808 ST GOrOD
0"t Bohod :

I. oo § o
[I. Beraard
I, SFaed
IV. b B
53 25188 FhHOD GHTBrAod HBS
DAFETErR), dothFod
(1) IL IV, III, I
(2y I IIL IV, II
(3) IILI, IV, II
(4 1L IV, II1
SO M HOTOSH H0oHoDS 1800
DT ¢ ewfood 2 Hchaw :
a. «=0cho 1. oW
b. Zoéwo I, ered HOS
c. S L (e 52 Hgeh
d HDHS v, Ened S50
S0 BS50S FEOD GATrAodD HBS
RTETER) DOTRE S :
a b c d
(1) IV | I11 II
(2) 1II I11 I IV

3 IV I I1 I1I
(4) 1 1Y II1 II
SEIANG TS T8 &d) 1D

S ne ) ?

I A5Ke) - |a8yorodio - JOrd

II. i0aam|d0 - 2978 - Ldofiey

I 3rendd - @Horodto - 970

IV. Jerych - deocs - 3eBgen - 4,800
BHS 2355088 FBe GHTEA0D TS

DHSFrorTR) dothsod ;
(1) 158030 II Sressh
(2) 110005 I Srebsd
(3) I SHB050 IV Srehzd
(4) 130050 IV Sredssh
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14,

15.

16.

.

Which of the Principles are common for Bhakti
and Sufi movement ?

1. Monotheism

I, Asceticism

1. Religious tolerance

IV.  Accepted the idol worship to some extent

Choose the correet answer using the codes
given below :

(1 L 11 and 11 anly
12y 1L, 11 and 1V only
3y 1,111 and IV only
(4) 1,11 and IV only

Choose the incorrect pair regarding the foreign
chronicles of the Vijavanagara Period :

Described the
conditions during
the reign of
Devaraya 11

(1) Abdur Razzaq -

Described
the rule of Krishna
Devaraya

(2) DomingoPaes -

Wrote about the
conditions of
Vijayanagara after
the battle of
Rakshasa Tangadi

(3) Caesar Frederick -

(4) Nikitin ~ Visited during the
reign of Achyuta

Devaraya

The Vijayanagra ruler who permitied Jesuits
to build churches at Nellore and Chandragiri

Was

(1) Devaraya Il

(2)  Venkatapati Raya 1]
(3) Thirumala Raya |
(4) Sadasiva Raya 11

(8)

14.

15.

16.

]

05 G Are) R reron OLaren o

L SE DD

1. argeea)

1L aeb Harwo

W Eocssdty AND0TES eohibodto
B @S sebd FHOD GHGHNON HBS

NV AN dotnSod:

(1 |.tlmﬂcﬁn1!lm~@§;h
@) 1L 11 00w IV S(ehad
@) 1, 11 S0ak IV A5l
@) L1 5005 IV Srigad

NmchShs el Tohd  dE¥cine
Lo $FI0 s s Llodod :

(1) b - DIoobell
S8 T SO0 I3
S8y Shoorch
2) Soff - )0 DITabed
) HBoD SPomrch
@ 26 - gD Soid oigo
GB08 Sor ged 3 BADANO
HOVEIOD (T
(4) AEBR - eocdyed BS0TCL
O 5TO o’
S DHBT SR

S, BoBBee 0 jen V0L

2l ey SRR EAR TN ate
et Eadth 9

() GSo"ckvey I

(2)  SOSOJIATGimew I1
@) BODerovEsey |
(4) Ei:um-fggm.mm 1
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17.

18.

19.

(9

Which of the following incidents took place
during the reign of Jahangir ?

1. The fifth Sikh Guru, Arjan Dev was
sentenced to deatlhy

Vietroy over Rajputs of Mewar
Annexation of Kabul and Kandahar

Arrival of English East Indin Company
to India

II.
111.
IV,

Choose the correct answer using the codes
Fiven below -

(1} I, II and III only
(2) II, III and IV only
(3) I, III and IV only
(4} L II and IV only

Match the following revenue officials during
the reign of Akbar with their duties :

a. Amalguzar 1. Kept records of the
revenue payable by the
villages

Revenue Collector
in-charge of a District
Accountant

Prepared the seasonal
crop statistics

b. Karkuns I1.

c. Qanungo
d. Bitikchi

111,
IV,

Choose the correct

answer using the codes
given below :

a
II

d

(1) 111

(2}
(3)
(4)

- e B

II1
I1

The longest Trunk Roaq constructed by
Shershah which still exists ;5

(1) Agra to Burhanpyy
(2)  Indus to Sonargagp
(3) Agra to Chittor

(4) Lahore to Multag

}
17.

18.

lﬂi

"
2Iohh Dodimod’ |Bod BELd) o
Doyatadhen S5en Thhatar o

I R0y es 080 Mty fath eufes Cias
SMOED HE LGRS

S30a3Eh O rplebaed D Din i

srard), 5ot D o et

2ofity G5 Doddir 20unh molaings
LETE RN I T e}

OMH @Nsbd COHOLG GLERGD S5
RSTFETR), oTnTod %

£

11.
111,
V.

(1) I, IT so8a8n 1 vty
(2) 1L, 111 Sobabm IV dovatisy
(3) I, TII So0chn IV Sk,
(4) 1, II So8aiad IV Soat,
@56 swomred Bos L Ciaurars
DRSO 0 PO LEOE 2l o .
a. @S Wb L rdry BT
_ DV LS DS AS
b. 35 %053 II. Oodair: Spayy 5%,
NC 2.5 2S5 S
le)
c. S&of ITI. Heodach
d. 238, IV. srercofeios
DOLIS ST
SHed Scird
T3 toer o
OLD BH5ES Theod &iITirfcd 2B
RETFCFT) DOTHTOS -
a b c d
(1) 1I v T I11
{(2) 11 v 111 1
(3)- IV IT 1 I11
(4) III 1 ™V 11
BEE DODHS) HE 2 Q02D
GRS 1Irod 1o 85
(1) e Dod 20TS 15
(2) OB NOB HrBro
@) e od DHEE
(4)

Tl Do Swers
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21.

22.

(10}
' - . sehdnts ook ¢
20. Match the followi books with their |20 ela )Y
authors : * i Schonded 2 Dobod
' 5 & B Q0%

a. India at the Death 1. Trfan Habib a. E‘Eﬁ{ﬁr — L :3‘53‘;5
of Akbar . wp @b -

b. The Agrarian 11. Trangois Bernier b, O JFOCHS WReR 1 LET ALY
System of Mughal @35 TAiied eTolw leahy Ejﬂ;}_CﬁJE
India, 1556 = 1707 Feates 1656 — 1707

. Travelz . William Foste
* Mol i i L3Sy as 6 3S g@m&
AD 1656 — 1668 Do : 5 TR0
d. Early Travels in IV. Moreland Lg-'ﬁ- 1656 — 16
India, 1583 - 1619 1 8135 =15 v, b Sob
Choose the correct answer using the codes modosr, 1683 — 1619
given 'i;elm-.* : ) . p B aSsB EHherddd SGATrfoD 28
@ v m o1 ASrer) gﬂm?ﬂf : :
@ m 1 v I a3 % |
@ IV I n Il ‘é; E"I :“ iv :1
4 Im - 1
& 2 (3) 1V | II I11
The -following historian contended that (4) 1 v .HI i
Taj Mahal is a combination of European and|21. S0& 58| 5t ] 5 S G Tord
Aalatic gaaive - ehaire HE oons ol WETIWm
(1) Ralph Fitch (1) oTH)HS
(2) ‘Tavernier (2) Hﬁ?lcﬁ‘}ﬁ
(3) V.A. Smith (3) D) DD
22. 1308  T¢D ®d  @d0dod
Match the following with the year they D055 Y880 2365 HIHTHEM
were formulated : | a. E%3 T5 [ <1
a. Famine Code I 1881 ) i i
b. Vernacular Press Act II. 1878 . RS Jeds o II. 1878
¢. Charles Wood's Despatch on IIL. 1883 ¢. DOIVS TTH &)
Education a>yS 111, 1883
d. 1%t Factory Act IV. 1854
d. OB E6 o IV. 1854

Choovse the correct answer using the codes
given helow :

a b e d
@ 1 i vV o
@ W El I 1
) 1 v

OHS ASAS Fheordy aHalrhod JBS

RITTTR) JotHEod :

s b c d
1 Iy " :
@ I v I
@ I g

IAY I
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23.

24.

(11

Arvampe the following ineidents of Rebellion
npainst Bast ladin Company i the Stoate of

Hyderabad in chromelogien) ordor ;

1. Altack of Turrebnz Khan on Mritinh

Residence in Hyderabad

IL Tmprisonment of Mubariz-ud-Daula in
Golkondn Fort

I, In Aurangabad, 1"t Contingent Cavalry
was sugpected, disarmed and nrrestoed

IV. The rebellion of Raja  Venkatnppn

Nayaka of Shorapur

Choose the correet answer using the codes
given below ;

(1) IV.ILLI

(2 ILIIL LIV

(3) IL LI IV

(4) L 11,1V, 11

Mateh the following Presidents of Indian
National Congress with their meetings :

a. Dadabhai Naoroji 1. Madras — 1887
b. Badruddin Tyabji 1. Bombay — 1889
¢. George Yule I Allahabad - 1888
d. William Wedderburn v, Caleultn — 1886
Choose the correcl answer using the codes
given below :

a b ¢ d

(y v Ml L e
(2) 111 I1 v I
@ v T
4@ m 1 m gy

)

P4 R

24,

(%]

) ROGGH ol Sdmddont prdorerd)

(] - o L
OOy ed ety D005
Brere| Bamon® o) e ;

. prdoerdh 6F SO0 5 (e

eI a0 1) €376

. o Seady o0 -l ety wmody
RIVALS)

I, Bdorerd 0 s eoF Ll V0,
G0 DOCIGHen T8 il
5aCho

IV, 80wyl § Soba) Overdobed ) arahb
eddrheren

O Q500 FHOD GHGINOD HBS
PRI, oSO |

(0 IV, 111, 1, 11
(2) 11,100, 1,1V
(3) I 1,100, 1V
(4) I, 11, 1V, 111
1500 206 2rach so|fih wdiid) 50
Qa3 OS 2365 HBcHSn
L OO 'O I S - 1887
b, 20RS @58 11, Sowron - 1889
c. 20) s 111, everaterd - 1888
d, DDA 1V, Eerdey - 1886
IG5 263
QS 2S5BS Therssy anaNod H9S
VS GTRR). DOHY O -
i Iy o d
(1) 1v I 1 1
(2) 1 1 v I
@ 1w m
(4) 11 | 1 v
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[ ]
=

A
dhijt K i
25.  The following bogk was translated by Gandhit 125 g o IS rodel PSS Q8
with the title Sqrpodaya : BDIEON0E IO
(1) John Ruskin - Unto This Last D 2SS - oSwoded
(2)  LeoTolstoy - The Kingdom of God @ OFWrerSy - & 8olS 6D &
is Within You _ erch 225 DAS i
(3 KarlMarx - Das Kapital @) SES By - oHIDGS
Y Maxi + = The Lower Depths
¥h R Go @) SHHFG; - 6 Sans mD)
26. Match the following newspapers with the 26. 806 sTH@Ee, are38 RNOROBOND
pPersons associated with them :. _ 35008 22855555 -
a. Indian Sociologist 1. Virendra
Chattopadhyay a. 2OEIHS L 8o
b. Islamic Fraternity II. Shyamji Krishna FASSreh SE DT
Varma b. 2D (268363 11 745 22 50582
¢. The Talw HI. Muhammad
i Backatullak ¢ & Serss IIL So%57550,5
d desh S IRY ORI
i h Sevak . GD.K
PR P Rulgs d DBEDIE V. 2.8, Ko
Chooze the correct answer using the codes
given below : G AadiDAS Fhod SOArAoD HBS
- b o d DTETRW), DOTHEOS -
(1) 1II 111 I v a b c d
2) IV I11 11 I L I -m 1 v
(3) I v I I @ W m 1 1
@ I O™ m g il W
(4) I 11 111 1LY
The idea of Indian Constituent Assembly was
put forward for the first time by 27. 20D T20K %5 et BSTISD Do
' WO B3 apésy
(1) Dr. B.R. Amb-edkar
(1) & Desh, ©0ZIes 5
(2) C.R.Das 2 Db opr,
@) 08, ooy
(4) MLN. Roy
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28.

29.

30.

Match
works :

a. Al-Biruni I.

the following authors with their

Tarigh-i-Firoz Shahi
Tahqig-i-Hind

II1. The Rihla

IV. Tabagat-i-Nasiri

b. Minhaj-us-Siraj 11.
¢. Ziauddin Barani

d. Tbn Battuta

Choose the correct answer using the codes
given below :

a b c d
(1) 11 111
@) -
(3) 1II 111 I
(4) III IV II

=i

Which of the following institutions were not
established during the
Movement ?

3 Besant Theosophical College,
Madanapalle

II. Jamia Millia Islamia, Delhi
III. Kashi Vidyapith, Benaras
IV.  Aligarh Muslim University, Aligarh

Choose the correct answer using the codes
given below :

(1)
(2)
(3)
(4)

Non-Cooperation

I and II only
II and III only
IIT and IV only
I and IV only

The Indian Independence Bil| was introduced

in the House of Commons by the British Prime
Minister Attlee on

(1)  2nd July, 1947
(2) 34 July, 1947
(3)  4th July, 1947
(4) 5th July, 1947

(13)

28,

29,

30.

A

Bod (fogrod ¢ Sdondod 2
DTN :

zOm-a-H82
AT

b, odes-@f -0 IL airég-o-2rob
c. 20radSaocd I & Bier

a. eO-DS0M I.

d. 228 LN IV, S2rEs-3-500
A0S 2S50885 TR &HTBrA0D mﬂr‘é
DT, dothFod

a b C d
2 il 1 | IV 1 111
(2) 1V Il I I
(3 I IV I 1.
(4) III I Iv. 11
RIFAH  ATESS G Dhohos 8o
NOPOS" DN APHOBDSSE

L D08 HTBrIFHES 582, HBSHd
IL  22asr DA QoS &0

. 52 o8 5H6, BoD

IV, @dmnb sulo ahrdsd)es ednsd

Qs 25088 T eadriod J0o
QAPLFAR) JOTHES -

(1) I0a5w II &Sressh

(2) 11805 I Sressh

(3)  TII 0005 IV &b Th

@) T5H00M IV Srgh

ardes meénlgﬁ; Densy (HEN 1HE wt3

TR 6D 0SS & 800 368
BARE TN

(1) 2278, 1947
(2) 38, 1947
(3) 4278, 1947
(4) 5a"3, 1947
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Pact B ;j'ﬁ 4 ., o
. W,
Const atioy, Polity, Social Justice and 5 3} dar g 5, rded, OH0 gn wof
Nterngtional Relations ﬂumﬁﬂa’ltﬁﬁ BETAm )

1. Which of the following statements s covrect

1 o o [ W, fi -
with 1y the State  Finance *h Olad - esd8 ﬁﬁﬁ;‘”ﬂ;? NOL0G0d  Bog
< Pt o S NE Y
Commiissioy » ARSI RN A RS
8

. 1 ) Ll '
IS roguired to appoint a State Finance
Contmussion onee in five yours,

L Meeommends the determination  of
Les, duties, tolls and fees assigned to
the 1‘:':111:'!1:1}‘:1!5 and Municipalities,

. Article 248 deals with constitution of

finance commission to review financial
Position of Panchayats.

Choose the correct answer using the codes

given below -

D IL I and IV

2) I “ ;1:1{1 “l

W land 11

) All of the above

Which  of the following Amendment(s)
provide(s) for reservation in jobs and
admissions ?

(n T7th

(2) &2

(3) 81

(41 All of the above

Consider the following Assertion (A) and
Reason (R) and choose the correct code :

Assertion ()2 ;
The President is the exccutive power of the
Union.

Reason (R):

The executive power of the Union shall be
vested in the President  and shall  be
exercised by him either dircetly or through
officers subordinate 1o him in accordanee
with the Constitution,

Code:

(1) Both (A and (R) are Lrue
correct eXplanation of (A).

(@ Both (A and (R) are true, but (R) jg pot
the correet explanation of (A,

@) (AVis true, but (1) e

() (AVis Inlse, by (i

and (R) is the

Flse,
is Lroe,

L 2E¥6 26000 012 @8 S0
NOHOE'E,) GOENOE.

1L D0mr0ne, snm)drdSes Seronods
Doy e, nos'en, BEen, Bnsned
Vonoston ad Nty o,

1. Sogrohee edE H0pa
D18 oaRS Horande whs Hag
D) EAN JO°YEN% €046 943
ATV oTAY :

O adsale Food ¢Hdiriod 386

R TTR) N0tHT0H -

(D11, 1T 8080 TV

(2) 1,11 0808 111

(3) InOdin Il

(@) 3

GO5red,odNSS 828308 o0 Soh

NSER(O)S" DO $B0A ?
(1)  T7a3

(2) B2

(1) 81

(1) DI

S0 G988 (A) HOMD  $e0 (R)
DOMEIO0A. DTS €55 do o&od
0808 (A) ;
Oad8 rdahS
®6580 $ON Hotrd,
0o (R)
WA FOINTLTE  0hsEe
O1RDBE 23 2rhidos, o500
500 B B 68 whSos )
GRS 0457 69 590 S,
ghen :

(M W), (R) Bothy D230 (1) ewI3A (A5
00 DoIGED,

@ W, B) Bodyr aug R (R) eo3a

SO0 34

3 (@A) dao, 5 () 82y,
@ D S35 ) e
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34,

35.

Which of the following statements related to

the Central

Administrative Tribunal are

correct ?
1. It is a statutory body.
1I. s

administrative background only.,

ITI. 1t is not bound by the procedure
prescribed in the Code of  Civil
Procedure.

moembers drawn

are from

IV. Its jurisdiction covers the members of
All-India services as well as Central
services and Central Government posts,

V. It was set up in 1985.

Choose the correct answer using the codes
given below :

(1) II, Il and V

(2) TandIV :
(3) LIILIVandV

(4) IIandIII

Which of the following statements is not one

of the powers of the Speaker of the Legislative
Assembly ?

(1)
(2)

He has no veto except in case of a tie.

A Speaker may be remoyed from office
by a resolution of the Aﬂﬂemh]y passed
by a majority of all the then members of
the Assembly after fourteen days notice

of the intention ¢, move such 2
resolution,

(3) The Speaker Vacates hig office if he
ceases to be a memhey o the Assembly.
(4) The Speaker i) Preside when a

resolution for his rnmuval from office is

(15

34,

35.

under consideratigp of the Assembl y.

00D

A

0 DS 13205555 %0
DOOHOD 806 73S HDHD D ?

L. 20 5900308 How.

I &R bz H0roT BIGPL0 Dod
ST b h SANB0ETED.,

28 DS |Fzb 685 Hrdodd
T8 Etpad o,

O WOHTE HOH o 2r8s DHSerds
rén Sold Wdew, Bold (Heedg
FFepe HEhredd €36 Suos.

V.  2d 19856 Domytn ToHndod.

I1I.

OIS A5 52ES EhoH GHTrAod HTBS

RAPCITR) J0THE0S |
(1) ILIII SH8cin v
(2) I00cinIv

(3) LIILIVadosuV
() II 3808 I

506 oBS D 1DHEOS TISHS HE6
WOTTOS 2,563 5% ?

(1) B AHHoS' $5) @88 HE' Sk,
(2) otndo8 SomaR) WO
GO4508 14 B Sdn Sovses
0D wd 38 dogeodd
202088 GBrAoNS eod) Bouso
rsor )6 & 58D &od
SON0RGIND).

V6 ©VODS Hapgdr GOBE0
SNHFS S DSV grd T,

DB DB Hod S Sohod
0980 B8 HBJensS BALVID
)56 ©B58 S Serardd.

(3)

(4)
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36.

37.

The powers of the Flection Comminaion
include whicl of the following ?

L. The Rlection Commission lnlm:;
decisions on evory dspect of conduet nne
control  of olections  from the
announcement  of elections  to tho
declaration of results. -

II.  During the election period, the Election
Commission can order the Government
to dismiss some government officials.

1II. When on election duty, Government

officers work under the control of the
Election Commission,

Choose the correct answer using the codes
given below ;

(1) Iand1lonly

(2) 1and 111 only
(3) lonly
(4)  All of the above

What is/are the provision(s) to safeguard the
autonomy of the Supreme Court of India ?

I.  While appointing the Supreme Courl
Judges, the President of India has to
consult the Chief Justice of India,

1I. The Supreme Court Judges can be

removed by the Chief Justice of India
only, ~

I11. The salaries of the Judges are charged on

the Consolidated Fund of Indin on which
the legislature does not have to vote,

Which of the statements given above igfare
correct ?

(1) TandIlTonly
(2)  1aondllonly
(3) 111 only

(4) 1,11 andlll

(16)

30,

317.

A

o))y ey Hobade) @000y Aosy 03

S8 KON voeyron 7

L Q080 [DEOS 508 Hdmes (225065

S6K DO Asin, AN E
NODOBEY  DODOGONG  (H
@040 DVIEO JoMmo AYcsren
S Z0H0N0E.

I D)8 HDDONOE  Todsos
DEveds  OHTOON  Sofoored
A ¥ D000 [2E )
e35330CIITN).

L N80 DG &)k, H2ds
e QSN NIAREIS D00
DoholeseadS’ HATI &,

O BS5A0 SBOSD GHTrAod HBS

DTN, oS0l

(1) 100050 IT Sr(ehad

(2) 1000w III &rebad

(3) ISredad

(4) I

oS D0 TP H000HBHA

HOGE.0T ADOLS(ER) e ?

I @0 T 0hSarderd

RODLDOTIEIY IR, a7Eeh T DS 3rde
DES THADHrO HoHOOBHOR
OO,

I1. :fa:Lﬁm%‘q;. mﬁa&am@m@ 255 (DG
§Ahasrd Sr|essh Sefodio.

1L ©% 025 .60 FakrSer2es ©S0do B

oS ST VOTR S 508 Hod 20
B TOX,

20 DS P&aDotros' D6
DBAOINBND 9

D 1906k 11 55

(2) 1 mﬂcﬁm Il h[_éa}

(3) III -ﬁ_‘.‘lgj'a)

@ 11 $8a5, 11y
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38.

39.

Which of the following are not included in the
original jurisdiction of the Supreme Court 7

L. A dispute between two or more States.

II. A dispute regarding elections to either
House of the Parliament or that of

Legislature of a State.

A dispute between the Government of
India and a Union Territory.

111

IV. A dispute between the Government of
India and one or more States. ‘

Choose the correct answer using the codes
given below :

(1) TandIl

(2) Il and II1

(3) TIandIV

(4) IIl and IV

The National Commission for Scheduled
Castes, while investigating any matter or
inquiring into any complaint, has the powers
on the following matters :

I. It can receive evidences on affidavits.

II. It can requisition any public record from
any court or office.

the
and

1. It issue

examination of

can summons for

witnesses
documents.

Choose the correct answep using the codes
given below :

(1) I and Il only
(2) 1I and IIl only
(3) 1 and III only

. (4)  All of the above

{17 1]

J8.

39.

A

806 78S 26 HHoFH wden OO

506 TE BB ?

. Both B odL0T By T
VTal A Py nled

I 26Doty BO OR 7RGILH 2060
A Eerdd HoVOEOLIH DTEO.

[, 2rde (Do, Soikardé (@rodo
5058 TS0,

IV. erdd |D20eés0, 2568 S wodiod
DBy TP G TS0,

BHS aS1bS FhOM eHTBriod HBS

JDITETR), HOTHT O :

(1) I0ci»Il

(2) II s00chin III

(3 In0cmIV

(4) III 8w IV

RETS Hoere Zach WIS, BT
DACLEA),  DTOWSY N BT BT
DO°HND TG TSR, & 1506
@o07oS @OST D DR Gotnod :
I oddO amrore) JFodd).

I B> §@ B sojoobo Hod

AT HEAE 6855 e2isQodSh).

L r$en, JEre H6%ed Fho S
28 ToLHHD).

AP BS52BS Fherdy aHFEriod B

VTR, dothtos -

(1) 150050 I Srie

(2) 11 350050 I Sz :

(3) 158050 1T Sres s

(4) S5
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(18) A

= ponsider the following Assertion (4) and |40, 806 586w (), SERO' (B) 0K,
eason (R) ¢ .
Lk} and choose the correct code : 388 §6:8 0 08 -
Assﬂ'{‘iﬂn {A):
The Parl; £ Tndi S (ﬁgsﬁgﬁmfﬂ :
arhiament of Indin consists of the v, v
President and two Houses. el ﬁf‘éﬁ}ﬂ&ﬂ@s o R08, Soc
ReaseRs wmeﬁm S OLTON.
0 (R) :
The President is a part of the legislature ‘LJ " 480 Y
even though he does not sit in Parliament TS S (G603 (DDOM0 SN0 S
except for the purpose of delivering his 8oend Sr&y8n)e3s 090856
opening address. | 270,
Code: §&en : _
(1) Both (A) and (R) are true and (R) is the (1) (A), (R) BO&> 20 (R) @O (A
correct explanation of (A), 5B D e,
2)  Both (A) and (R) are true, but (R) is not
- tlfe cnrrerinexplunatiun of (A). @ (&), (R) DOGs 0, SN (R) OO (A)
; B0 D edGED 5.
(3) (A is true, but (R) is false.
(4)  (A)is false, but (R) is true. 3) () D20, S (R) ).

(@) (A) D), 5% (R) D230.

41. Which of the following are among the 41. 2roe G"E‘-‘-'-‘Erﬂﬁﬂg ﬁﬁ?ﬁﬂrﬁ AR OV D)

Fundamental Duties of citizens laid down in BrEE DS 80d TS DD G ow ?

the Indian Constitution ? L ArS¥ omricho  &od yeyPyps

L. To protect the weaker sections from 3T 88 0550, _
social injustice, 1L ’E'Lﬁ.? o I 47302

I1. ‘.j{‘n dl?\'ﬂlﬂp scientific temper and spirit of 208080540,
mnaquiry.

111. To preserve the rich heritage of our M. <3S VIS0 ;‘ch:’&f}a fra) TOXTIY,
composite culture, S G0,

[v. To safeguard public property and adjure V. 02 sdeod 5800580, IOV
violence. WHFS S0,

Wwhich of the statements given above gre ?._J.{- mzﬁaf{: ?ﬂﬂbﬁ.aﬂe:.ﬂe‘i‘ AR H8 A5y

correct 7

(1) 11 and ITonly (1) 1 80w 111 S ehadh

(2) 1andIlonly @ 10 11 s

(@ 11,1l and IV @ 1L S8cky 1y

(4) All of the aboye (4) g&-’:ﬁ:}l
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42,

43,

44,

(19 )

Which of tlyo fllowing ontries of the
Constitution deals with the
seiondifie oy technie

Indinn
institutions for
nl edueation finnneod hy

Indin, wholly or in part,
and declared by Parlinmont,

tho Governmoent of

by law to Lo
mstitutions of national importanee 9

(1 Entey 64
(2)  Entry 63
G Entry 66
1) Entry 66

Who snid “Indin is nol a nation in the
traditional wostern sense but o comproehonsive
culture of continental scope compounded of n
very large numboer of linguistic nnd religious
entities, highly complex and often strongly
antagonistic loeal eultures” 7

(1} Carl Friedrich

(2)  DP.H. Appleby

(3)  Woodrow Wilson

(4) Jawnharlal Nehrea

The Constitution  confors which  of  the

following Articles that denics the rights to
nliens (Forcign Citizens) ?

1. Articles 29 and 30
II.  Article 19
1.  Articles 23 and 24
IV. Article 16

Choose the correct answer using the codes
given below !

(1)
(2)
(3)
(4)

11 and 111 only
1, 11 and IV only
111 and IV only
All of the above

42,

1.1,

44,

A

WO orarsolios'd 808 adS DSy dor
OUAE Dedg K00 S (HEvS o Ll
dor Dlor Deben  IHEFEHWOA,
AN [ Ddopses EONS QOPEVT O
Q50" rPoentd 1HESoSHA0A ?

(1) oLes (S3resd) 64
2 D0 ($re) 63
B oS (SJrct) 65
) doled (S3rew) 66

“WOSBI0 JODEOH JT )85 oo 2.4
Bio 2%, £ orer S oIS aray,
DSHEDS eonergen, weios oSN,

SO a0Hd QDS K
VO IHOS Hrr@S POG0SE H66 Qeadol
RO HEN" €0 Dadthd ey ?

1) sHRDIAS

(2) G wdH)SS;

@ HE deys

) 23r0erS v

AT D HOK Ty e Do Sob D
VREOROD T2 0N 1HErS0 TR0 ?

L 0565 29 S8 30

IL e85 10

L es®5e 23 S0 24

IV, 88516

QS 25088 FBey anmriod HBS
NFETR) JOHE0E -

() 11 000 I S5y

@ 1,11 2005 IV sy

3) 111 2Ok IV S,

) 8y
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45,

46.

’i?t

n . o v
Consider the following statements ;

1, The Preamble was enaeted before the
enactment of the entive Constitution,

I The Iyeamble is o part of  the
LConstitution but has no legal offoct
mdependently of other parts,

L W is enforceble through Courts of Law,

V.

The Objectives Resolution by Jawaharlal
Nehru finally beeame the foundation for
the Preamble,

Which of the statements piven above are
meorrect 7

(1} Tand 11 only

(2} 1l and IV only
(3 L and 111 only
(4 1, 11 avnd 111 omly

Which of the following statement(s) is/are

correct 7

L. The PM CARES for Children Scheme
was launched by the Prime Minister of
India on 29" May, 2021 for tho children.

II. It nims to support children who have
lost both the parents or legal guardians
or adoptive parents or surviving parent
to Covid-19 pandemice,

Choose the correct answer using the codes

piven L low

(1) Both land 11
(2)  Neither Inor |l
(3 lonly

(4) 11 only

with child labour being made illegal and ripht
to cducation becoming a fundamentnl right for

children, this right against exploitntion has
Become more meaningful,

which of the lollowing pirs of Articlos provide
for right to w!_urulum and prohibition of ¢hild
[nbour respeetively ?

Articles 21A and 29

(1)

() Articles 21A and 24
(3)  Art icles 23 and 24
() Artieles Moand 19

(20}

A,

44,

'iTi

800 Wit DOMEOH06

L D08 Ao or2mofio eofends t
O*E A0S 00 AL,

I OO% 0Rrs0N0 28 20 50 bt
O Howodkho ko
0 0ed (D210 oy,

ML 22 5oy ared 710" eoden
IRV AT ML NS TAY

IV, addberd Siov g Soydso
DSGE HOEL Dardnt Sr008.

WA RN (DEISOET DES 65y 7

(1 1 0o 11 esrddal

(2) 11 SHOai 1V dAresed
TR BT TS VAR T | NVETEIR )
(1, 1 HOain 11 doveded

S0 DSOS JOD DOBHE ?

L 200 $00 .00, U0 & S 20 2,
20215 23065 DN 1rdodoo .

1L 8819 5590 sdmont
SOGoIEhen B S&HBh
VOB Hoen Bor chebes edintod)
$OGoIthen S B0 B
é@ﬂu{_ﬁutﬁtﬁ) S5 Yo Wi Ieathy
QY 25 150 D ©f 50,

Ofbed RHFAAS FHheO®D dI0N0D HBS
QeI DOYod -

(1) 00w 11 Bodkye

2y To0din 11 Bodhr s¢h

H I ISV

(11 eseh

a0 H0E Srape SEanmoo dabdo,
b T 0 S 1 A DOOH e DrHoyne

OG0B, GHAS $B0Kor & Dby
D00 @OFI0S0n LrB0d.

BOCY o) 23eb SORen Sthane Dty arHy,
&' 5O o 1 008e)yan ?

(1 w5 21A S0ty 23
@ SO8B 21A S008 24
(D e vy ek o4
(1) Qe 14 anl3cin 19
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48.

49,

00,

Consider the following statements regarding
GST :

I.  GST will bring more transparency to
direct tax laws.

II. GST was the 1227 (Constitutional
Amendment Bill introdueced in  the
Parliament.

III. GSTis a destination-based tax,

Which of the statements given above isf/are
correct ?

(1)
(2)
(3)
(4)

I and II only
IT only

IT and III only
I, IT and III

Which of the bodies recommends the
distribution of the net proceeds of taxes to be
shared between the Centre and the States,
States, the
respective shares of such proceeds ?

(1) NITI Aayog

(2)  Finance Commission of India

{3) Inter State Council

(4)

and allocation between the

National Development Council

(21)

A

48, 2.9045.8 Howodod (180 (DELSOD

Which of the following is not the function
of the National Commission for Scheduled
Castes 7

(1) Providing constitutiong] protection to

Scheduled Castes,
2) To submit Iﬂ’lE report to the Prime
Minister related to ¢}, tion of
Scheduled Castes, eotecso
interests of Scheduleg Casta;;mlates

(4) None of the above

49,

560.

20tedodsod

I 20048 D68 D)  oFody
530065 PEOB 8BS0 S0,

I 2098 008 & (HIFES
12255 orezrsoli D08 e,

L 20065 oI0 8950 egrds He).
25 20 INDEOIOS B SBIB/HTHD ?
(1) 150805 I SreD

(2)  I1Srehad

(3) 11080k I Sredsh

(4) I, 11805 III

301830, T7(are s HONETO )N Ho
A5G erosrd) Dode Tared, olare
Soeds oS08 Tad
AOVORS  TEFON o NON )
TNOH ?

(1) & esdrh

(2)  2rde e Hovo

(3) ©@osTra D0t

@) 2ra0H @DIYO $Hod

SeronoRew,

§08 &3S DO RAEFO Here 20
Ea® N ¢ 7

1) AP Deredy oaroli G860
$Dy009¢0.

AAEPSY Hoerer 8% gy H0R0H0N
QIO D50 B8 HHBYOVEO.

(2)

@) DAY Kerey  PRrRTOD
GQOMOT  DFr GO
wohdso,

(4) DI 52
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al,

52.

53.

(22}

Which of the following i¢ nof a fanction of the
l-itl"mn 'I‘uhiw Serviee Commission (UPSC1?
1) Conduct pyaminations for appointments

10 the corvices of the Union
(2) l‘mm:hminn on all disciplinary matters
(3} Mﬂ hﬂl‘i of recruitment
(4 T't‘.iamwr of recervation
Which of the following subjects are listed in

the 11th Schedule ?
1. Wo

IL Public Distribution System
I11. ].,ihraries

IV,
V. Markets and Fairs

Choose the correct answer using the codes
given below -

(1) LHandV

(2) LI IMandIV
(3) LI IlandV
(4)  All of the above

men and Child Development

Slum Improvement and Upgradation

Which of the following statements isfare
correct about the National Green Tribunal ?

I. It was set up under the National Green
Tribunal Act, 2010,

II. NGT is hound by the procedure laid
down under the Code of Civil Procedure,
1908.

[1I, NGT has six places of sitting throughout
the country,

Choose the correct answer using the codes
given helow :

(1) Tonly
(9) 11and T only

(3) Tand Il only

(4) Ij I1 and Il

808 38 ardond HO5 5810 LS

(G4, 5.0.2) 00 58 28 7

(1) chraoha RIS AT Sao
208 0 NG00

2) o) I e A0

3 O%rdos
4) 028128 HoE
o 85 113
TOHASD D7

L (R, %% )50
IL 1520 HoNED 199
11, foreairen

IV. 00880 0250 SHBckh sTEEAS
V. S0, rdben

AT 00 -
(1) L1500V

(2) TILII SBchy IV
3) LILII»8cm Vv

(4 I
- S8 1S BaoS  mBons Boa
8030 B 5356 2
L 30 JA8S BS | BansS 390, 2010
560 doryen Fohadoa.
I I028 26 13825 £5. 1908 B0
AT TR $008 Ho0d.

[11. ﬂl&.ﬁ.ﬂ § E‘EQ‘S;}D”‘ Eju:ﬂ @13?&5‘

GOLNoA,
E},mé A A S8od andriod NRIN
VIR J0HE0A -
M1 admgy
@ 1oty 1y g5,
@ Thbog, ISy

4y LI1] ﬁjﬂmn 1
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54. With reference to the Protection of Human | 54.
Rights (Amendment) Act, 2019, consider the
r»..'l."_;'l"..\'in!: statements n.L'H,"I-'l'Il ﬁﬂliﬂﬂﬂ] Il“““'l“

Rights Commission (NHRCY :

E Judge of the Supreme Court can now be
appointed as  Chairperson  of the
Commission,

I.  Term of the Chairperson and members
shall be three years,

11I.  Chairperson and members shall be
eligible for re-appointment.

Which of the above statements is/are correct ?

(1}  1andIlonly

(2)  IT and III only

(31 1,11 and III

(4)  Tonly

55.

53.

With reference to the National Commission for
Minorities, consider the following statements :

I. It was set up under the National
Commission for Minorities Act, 1992,

II.  Ministry of Welfare has notified five

religious communities under “Minority”
status, to date.

III. It can make recommendations for the

effective implementation of safeguards
for the protection of minorities by
Central or State Governments.

Which of the above statements are correct ?

(1) Iand ]Il only
(2) II and III only
(3) I,II and III
(4) Iand Il only

A

JrDS  foye HOBLL (25680) WO,
20198 HoWOOOD), 210 S TR

EMWAD (DS rHesh ) Hoodd 5ob
|8t HONSohod
L oo  &iohaardd asyth

E20:000 B0HG YN ACHIDOIHTD),.
. 36265 00 Sdhie HENTOO0

SR MOES YT,

NI SEHGHS D00 HzZbren  S6A
Josrdsns ewden.

2 1DEOSOS’ DO SBIE ?

(1) 106050 I Sr|edad

(2) 11080 I Sriehabd

(3) 1,11 So8osw II

) 1 Sredh

FAH Drote EDASH Jowolod,

80 |DELde DBKSoSo -

L 20 oo 2a0H aS S&o,
1992 | 05780 T30 Tohadod.

I 508 Ho@ss 7 adyd 8%
0L DT OH ToOS T DO

oo 808 Se3 Sod.

L. 26 o8 Sor ol (DT O 507
D08 S8 FHo dYSosor
IO TodhaED8 ST e LS
Db .

D (DEQIOS DB HBIA 2

(1) 100k I Sresshh

(2) 11 o8aiw I M

(3) L1 80w 111

(4)

1 20050 I S,
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58,

57.

58.

59,

60.

?ﬁcﬂnﬂr. the term ‘Chicago Convention®' is
requently seon in the news. Which of the
fbllnwmg S0

¢tor iz it nssocinted with 7

(1) Carbon Capture

(2) Civil Aviation

(3) Merchang Shipping

(4) lﬂl‘ﬂfluﬂmunrhuns

‘C"ﬂ:::mh st;;t::m?m ¥ the  Competition

Bttt of India, eonsider the following

I. It is a statutory body established under
Competition Act, 2002 ne amended by

¢  Competition {Amendment) Act,

2007

IL It consists of g chairperson and five
members appointed by the Central
Government.

Which of the above statements is/are correct ?

(1) 1 only

(2)  II only

(3) BothIandIl

(4)

Neither I nor 11

National Bank

Development (N
the recommend
Committee 7

for Agriculture and Rural
ABARD) was established on
ation of which of the following

{1} Sivaraman Committeo
{2) Santhanom Committee
(3) Sarkaria Committee
(4)

Rajamannar Committee

"World Competitiveness Index’ s released by
which of the following organizations 7

(1) Institute for Management Development
(2) United Nations Development Programme
(3} World Economic Forum

{4) World Bank

Kautilya categorizes the Governments and

Heads of Departments inte 18  tirthas.
Amongst these “Dandapala® is the

(1) Magistrate

(2) Chiefl Couneil of Ministries

(3) Officer of the Army Department
(4) Guardian of the Forts

{ 24}

GG,

G7.

a8,

59,

6o,

[2]

ot =
wtdses ‘Ooft LSBT & L0 S
SCE  Enniol. Sofs odd whH D
3 ) &
SOMDE e 020 0H0T SOl Y

(1) 563553530

2y  Bro 2SS cirdo

(3) orelag ol o

4y SESEGS

SODSHS  EHBS  wD wohohd

DOBOGHOD), EO& HEL S Tt -

L 20 sobdas She, 2002 o BH000E0
SOBBHS (SIdm) Wpo, 20T Lo
FDoDS SPnETl Lol

1

BoheS FoS 1Beblin Sallheds
TOD0NS, s Sl e mmiyrt
D ROBoS oS DA BBLA Y

(1) IaSmessh

(2) I Sm&sh

(3) 1080 IIccas

4) 181 =2s5

08 a3 D 5o TN TS zreol
20 @S s wof Sams TS n oS
(Z2rb) PhoSadoa 2

(1) F30%0S 5nnas

(2) DHomrdo gnnat

(3) DoA™ Ernat

ORI - L e

OJ0S MSSS 5 2r0TH 208 et
ROR Dachey SERes 2 o B2
(1) adearss =5 T RS T e
(2} DEorazanLg D30 TSN e

(B 1000 sy mgﬁ" S

) ID[o 2 e

Seleusdy L;:"i"fﬁ!'.&“gt_u

18 E?Aﬁ‘tmnu ﬁ&ﬁﬂ-g » DRSS ADSde Sy

Ay S0, DSBS Do
) o ey
SN
() E;},g = : ;
(4) T 2dwe

= ‘"‘”"%Emm
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'art C

Indian and Andhra Pradesh Economy and

61.

62,

Planning

Given below are two statements, one labelled
as Assertion (A and the other labelled ns

Reason (R), Seleet your answer from the codes
given below.

Assertion (A

There 12 n

structural change in the

composition of National Income in India.
Eeason (R) :

The process of economic growth was

initiated in India.
Codes :

(1) Both (A) and (R) are true and (R) is the

correct explanation for (A).

(2) Both (A) and (R) are true, but (R) is not
the correct explanation for (A).

(3) (A)is false, but (R) is true.

(4) (A)is true, but (R) is false.

The economist who said that the “Net Social
Product and the Social Income are one and the

same thing” is

(1) Adam Smith
(2) Alfred Marshall
(3) P.A.Samuelson
(4) J.R. Hicks

[ 28

) )

I

b C

0B0HS wobh ol (DT DT wobs

G1.

62.

Qof

1B Boch |HELOS) 900 200, 2,543
s

3G (AT, HEEES $0@o (R L2

, o i

Sobafhod. O ﬂﬁ_’;ﬂﬁm #hHe dD0o0s &0

BT, dothsodb.

™

SPDSEea (A)

E8T50S r8oh wrroho §rtiyE
Do Tl S GOb.

sdeao (R) :

eSS Eiods
lErdodisood.

hen:
(1)

es0E

a9 1DEChH

(A) 080 (R) DO 220 H8din (R)
06 (A)8 DB DSBe.

(2) (A) SBC (R) Bodr Qz0, T2 (R)8

(A) DA e 0.
(3)
(4)

(A) 633, SR (R) dz0.
(A) D220, 5% (R) &3y).

NG radral )8, raras eorodo
00> .58 @ TS esdide

(1) edd E

@) oS Db Sr8S
B D ARrSHS
4) 2.5 278y



GS/1G/100

63.

Given below are two statements, one labelled
a8 Assertion (A) and the other labelled as
Reason (R), Select vour answer from the codes
given below

Assertion (A) :

Per Capita Income decreases in a
developing country cven though National
Income increases.

Reason (R :
The rate of growth of population is higher
than the rate of growth of National Income.
Codes:

(1}  Both (A) and (R) are true, but (R) is not
the correct explanation for (A).

(2)  Both (A) and (R) are true and (R) is the
correct explanation for (A).

(3)  (A}is true, but (R) is false.

(4) (A)is false, but (R) 15 true.

During which Five Year Plan was the rate
of growth of Gross Domestic Product the
highest ?

(1) 9" Five Year Plan

(2)  10*™ Five Year Plan
(3) 11 Five Year Plan
(4) 12" Five Year Plan

Which of the following is notf a feature of

MGNREGS?

I. Guaranteed minimum wage employment

II. Rights-based employment scheme

111. Generation of wage employment in rural
arcas

1V. Provision of nutritious food

Choose the correct answer using the codes
given below

(1) I, ITandlV
2) I, Il and IV
(3) 11, I andly
(4) 1,11 and I

(26 )

65.

A

063. (80 Dok |HEESen B 5¢80 2200060, 2.5¢3

Gadese s, HTES  wémo  (Rim
Sond Dohdod. BHS adsHGS The
2308 5 HIroraR) JothEod.

S)DEGe (A) :

ach oroho DOANDE @dSHE
Tothehdy THod Sodd woraho
Sihebood.

sdeao (R) :

2ra0H ardad S0 Gtn o ARy
G0 Bt DB ST God. .

gGen

(1) (A) SB%» (R) Bodr dzo, 5 (R)
@O (A DB JHGED 57,

(2) (A) <0Ociw (R) Dodr Azo H0dw
(A)8 (R) DB DS Gev.

(3) (A) dz0, 5 (R) $33).

(4)  (A) &33), SR (R) dzo.

& DoSSE  1Dwds  seod  Sre

ST 1B SYOBED SIOLOM &rd)O 7

(1) 935 HOWSE (Her P

(2) 105 HOBSY (Her

(3) 1135 HOSY | HeTDE

(4) 123 HodSE (DT P

& 180HTVS D8).2.05.036.2.2.90.
O5R SV TH ?

L 50 385 aard 59
IL - D8 8oy 50303 HEa

L e (Fosos Issos 58S
G $030

IV. &' 5558808 SNV VRTS
O ABLDAS EHers GHTTAOD OB

DATFTTR), OHFOA :
(1) LII8asy IV
(2) I, III DB IV

(3) ILIII Si}ﬂcﬂn v
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66.

67.

What is the age-group of higher proportion of
working population required for Demographic
Dividend ?

(1) 15 -64 years

(2) 18 - 65 years

(3) 18- 60 vears

(4) 15— 60 years

Which of the following are the objectives of
Beti Bachao, Beti Padhao ?

1. To provide legal assistance to girls

II.  Toreduce decline in Child Sex Ratio

III. To encourage women empowerment

IV. Toremove gender inequality

Choose the correct' answer using the codes
given below ;

(1) L 1II and III

(2) IL III and IV

(3) LIIandIV

4) LIIlandIV

Given below are two statements, one labelled

as Assertion (A) and the other labelled as

Reason (R). Select your answer from th
given below.

Assertion (A) :

e codes

National Income growth fluctuates with
fluctuations in Agriculture growth in India.

Reason (R) :

Weather conditions, especially rains,

are
uncertain in India,

Codes:

(1) Both (A) and (R) are trye
correct explanation for (A).

{2] Both {ﬁ} and {R} are f__mﬂl but (R) i not
the correct explanation for (A).
(3) (A)istrue, but (R)ig false,

(4) (A)is false, but (R) is true.

and (R) is the

{27 )

A

66. BINTIE BITOE §0 ©IHETS (FDE

2y ©@hHf DAY SoHAN)-D&TETO
J0ed 7

(1) 15 - 64 D065 0D

(2) 18 -65 Q05 orew

(3) 18- 60 A03ed )Tren

(4) 15 -60 Q05500

B8 208, TS s e rswven
80OTRS’ DD 7

I 2rd5od orioh S5 eHSnso80cHe
I 2roe Oof 18 §ads dhochey
OI.  res oS ESD 1856 y2ro e

IV. &off @ddrsderd Soflothe

QNS A5G FhOD GHTBFAOD IBS

DIFTTR), 0TS :
(1) 11 58080 111

(2) 1L III S8 a8 IV
(3) I,II5805 IV

(4) 1, III 18050 IV

IS0 Bocth |H8erSen RS0 20008, 2.5¢3
SIS (A) S, HEES w800 (R
TS TohaBod. BHS 223D Fhe
0GB D DIFTTR). AoHTod.

S)DEBea (A) -

Ao Tnt{ola) S5 OD S90S
TEISPOS  rAH eooh S50
TE0ISHOL D08,

5320 (R) :

TBIOR  JBPdren, SowoT ST

ESTF0S’ @D S0 e o

E8exn :
(1) (A) OAW (R) Body dzo dain
(A)E (R) DB DS Sen.

(2)  (A) SOA™ (R) Bogy dz0, SO (R
OTO (A8 DB D3SSen 5.

@) (A dzo, D R) 8y,
) (M) &), A R) D20
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3. Mateh the following

a. Trade 1.

List 1

List 11

Primary Sector

L. Water Supply 1. Service Sector

Choose the correct smswer using the codes

¢. Fisheries
d. GDP
given below ;

a b
(L I 1
M 11 IV
3 1 1
4y III I

Which of the following is not included in the

National Income ?

(1)
(2)
(3)

- (4)

Match the following :

111. Central Statistieal

Drzanisation

c
IV
I
111
vV

Wages and Salaries

Tax Revenue

V. Industrial Sector

d
I1I
111
IV
11

Interest Receipts from Public Debt
Profits of Public Sector Undertakings

List I

Iron and Steel
Industry
Jute Industry

0il Refinery

Integral Coach
Factory

11.

IV.

List IT

Perambur

Jamshedpur

Kolkata

Barauni

Choose the correct answer using the codes

given below :

il
(1) 1
(2y I
@ I
(4) I

b
111
Y
11
I

¢
IV
I
I
A

d

1
11
111
11

(28)

tHE
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71,

& 18060 O 26 Tl ;
ardes [l
[arGrabs G0fhea

ey G0

arder |
N Oardaw L.
b, A3dons L
e, Q3L 005S I, Bol& Mol o
d. 34.9. V. D070k dolio
OMS @S t8S Thod adoirNod O8m

DArEIR) dochSod

n b C |
(1) 11 I Y I
(2) 1I 1Y I 1T .
(3 II 1 I11 v
(4) 111 | IV 11

2 ASrEroL0S TEING & 180 TS
6 ?

(1) Fededadwen SHoain Bedsnen

(2)  20aD) SPCLOD

(3) DSBS 208D 0B Iy 36
| or280eD ]

(4) (DZhdgdon DoPe Hod SN0
erzren)

& 800 TR 268 TOEVEW :
ardae] ard)a Il

. A8, ¥y DI 1. doard

b, 28 T8 HOFD II. Babeyb

c. S0 HOLorSLY 11 CSEE
d. D3 Bew Sh

IV. 28
SAD §o°) eSS
ODD VS5AS FHerdy BHETAOD 0
QPR QOHTod
i b e d
(1) I 111 A 1
(5 HI AY 1 11
(3 IV 11 I 111
) 111 1 v 1
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T2,

4.

When the Central Bank increases the Cash
Reserve Ratio, it leads to

I Fall in money circulation.

II. Low demand for goods and services.
111,
IV.

Rise in purchasing power of the people.
Rise in bank’s lending capacity.

Choose the correct answer using the codes
given below :

(1) LIIandIV
(2)
(3)
(4)

I and II only
I, IT and I1I

I, II and IV

Statutory Liguidity Ratio is to be maintained

by banks in the form of

I. Cash.

1. Gold

III. Unencumbered investments in specified
instruments. ’

IV. Priority sector loans.

Choose the correct answer using the codes

given below :

(1) II,III and IV

(2) I,IIIand IV

(3) 1,I1and IV

(4) I,1Iand]III

Gilt edged market comprises

(1) Treasury Bills and Government Bond
Market.

(2) Mutual Fund Market,

(3) Derivatives Market,

(4) Capital Market,

{29}

72.

73.

74.

dod wrofy S Nose DAYBD
25085 20N

L (005 SHered Sedod.

I 3389 Bdeso Nos SHaod.

(DEe Fofien AP0 DHDE0E.
ey Jontd) @0

I11.

V. zrose

2yoiheaod.

B 2SS Food ¢HarNod B
DT, LSO :

(1) 1, T 8a50 IV

(2) 08050 II Sr(ebad
8) 1, 11 o008 111

@) 1,1 S0050 IV

SL2GDS O858¢3 DXHBN wrsofien &
arHod’ A seroTd

I &Stick.

II. 20mdaw.

L DTS TS erdo B EPED.
IV. |arerased Somrosd aaneme.

OIS @B30AS T GITrhod HT
DAFTTA) JocthEod

(1) II, III <Sobchn IV

(2) I, 11 8w IV 3

(3) I, 11 08cin IV

(4) I, 1I08cw III

A O & S3BLENS’ A &3

(1) mperae Devew, D206 s 270l K70y ew.
(2)  Sarscssd Dok Srdyw.

(3) &ed)om) e 0 e,

(1) Srerdssd SrB)éwn,
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5.

76.

71.

Non-Performing Asset as per the current
banking normsis

(1) A loan which is due during the last

90 davs,

(2) A loan whose instalment of principal

has remained
overdue for a period of 90 days.

and interest amount

(3) A loan whose instalment of principal

amount
90 days.

is overdue for a period of

(4) A loan whose instalment of interest

amount
S0 days.

is overdue for a period of

Name of the committee on Indian banking and
financial sector reforms constituted by the
Government of India in 1991 is

(1)
(2)
(3)
(4)

Suresh Tendulkar Committee
Committee on Financial Stability
Committee on Financial System

Raja J. Chelliah Committee

Para Banking Services include the following :
I.  Credit card business

I1.
I1I.
IV.

Insurance business
Credit to para military personnel

Factoring services

Choose the correet answer using the codes
given below :

(1) I, IlandIV
(2) II,IIandlV
(3) I,ITandIII
(4) I, 1TandlV

(30)

75.

76.

77.

A

5 2008 AWOOVL 530 AEPE
€350€%) T

1) {5 90 OTOS TSR 2.
@) 90 OvodH D8 Hy N0
2NV BHED TN, .

"(3) 90 OToH DA Ky O

20E2:003) EAEN FPONTT,
(4) S 90 Brod FIOVS VISV

36

19915 2rded (DZDSI0 DTN TR
rBac%h 2rsolof, eds doff Hodysoe
¢35 B

(1) 205 Dodred

(2) DTRAHS DO 20¢8
(3) DTVADNS VIS E20es
(4)

oe B. Jeogohs Ened

>0 7ofofi DS & 1BoBD amd
GOLFOm :

L 588 58 ariardsn

IL DS rsardsn

L 2o D66 Hayyons 207D TH )&
IV.  3r§00R %sexn

f,ms.a AIBS EFercss SAANOD BB
RTTTRR)) JOHFOA -

(1) LII ﬁjﬂﬂﬁn vV



GS/1G/100

78.

79.

(31)

Given below are two statements, one labelled
as Assertion (A) and the other labelled as

R‘uasnn (R). Select your answer from the codes
given below,

Assertion (A) :

fhads and Services Tax (GST) introduced
in 2017 is non-inflationary.

Reason (R) :

GST system avoids tax-on-tax.

Codes :

(1) Both (A) and (R) are true and (R) is the

correct explanation for (A).

(2) Both (A) and (R) are true, but (R) is not
the correct explanation for (A).
(3) Both (A) and (R) are false.
(4) (A)is false, but (R) is true.
Match the following :
ListI ListII
a. 10" Finance I C.Rangarajan
+ Commission
b. 11" Finance II. K.C.Pant

Commission
c. 12t8 Finance IIL Vijay L. Kelkar
Commission P
d. 13t Finance IV, AM. Khusro

Commission

Choose the correct answer using the codes
given below :

a b c d
(1 1 I vV
ey, I oy I 11
3 v I Y. ie3)

4) I v II. S:mp

8.

78.

A

18o¢s Bodh HEeSen @S cto 2000, 2,863
0868 (A) s, HEES sdeo (RIT
dend JohaBod. HbS as5abs Fhe
0B D HITTER), FotHT0od. '
B)DeSe (A)

20175 H0SSIB0S  HFIDEI 30
350 H 1G5 Siream,

sgea0 (R)

38 Dder D) SISPS HAND D)
Grochcn,

gGen :

1) (A) HOF (R) Bo&r 20 O
(A)8 (R) HBS DS &ed.

(2) (A) B (R) Bodr D20, 59 (R)
OO (A)8 DTS Ddtea 5.

(3) (A D=0, 5 (R) é53).
(4)  (A) &5), 50 (R) dzo.
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80.

81.

82.

83.

Given below are two statements, one labelled
as Assertion (A) and the other labelled as
Reason (R). Select your answer from the codes

given below,
Assertion (A) :

Budget Deficit financed by
currency will lead to price rise.
Reason (R) :
More goods will be produced in the economy.
Codes :
(1) Both (A) and (R) are false.
(2) (A) is true, but (R) is not the correct
explanation of (A).
(3) Both (A) and (R) are true.
(4) Both (A) and (R) are true and (R) is the
correct explanation of (A).

printing

Part V of the Andhra Pradesh Reorganisation

Act deals with
81.

(1) High Court.

(2) Apportionment of Assets and Liabilities.
(3) Authorisation of Expenditure and
Distribution of Revenues.

Management and Development of Water

(4)
Resources.

Polavaram Projectis a i 82.

(1) State Project funded by the Central
Government,

(2) State Project funded by funds of the
State of Andhra Pradesh.

(3) State FProject funded by the States of

Andhra Pradesh and Telangana,
(4)  National Project,

How many Schedules are there in the Andhra
pradesh Reorganisation Act ?

() 18 Schedules

(2) 14 Scheduleg

(3) 15 Schedules

16 Schedules

(4)

(32)
80, |80¢ Bodh |DEL/L BHIB0 £0h0b. .54

83.
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84, Apex Council of Godavari and Krishna river
water resources  and (heit— management
consists of

Ministor  of  Water Resources,
Government of India as chairperson and
Ministers of Trrigation of both Andhra

Pradesh and Telangana as members,

(1)

Prime Minister, Government of India ns
Ministers of Irrigation

(2)
chairperson and
of both Andhra Pradesh and Telangana

as members,

Minister  of  Water  Resources,

Government of India as chairperson and
Ministers of Revenue of both Andhra

Pradesh and Telangana as members.

Minister of  Water  resources,

- Government of India as chairperson and
Chief Ministers of Andhra Pradesh and

(4)

Telangana as members.

85. Government of Andhra  Pradesh 18
implementing YSR Rythu Bharosa-PM
Kisan Scheme for the benefit of farmers of

Andhra Pradesh.
Which of the following statements are correct

about the above scheme ?

(1) 7 13,500 is given to a farmer’s family In

three instalments every year,

) T 7,000 13 given by Government of
Andhra Pradesh and ¥ 6,000 is given by

the Government of India,

7 6,000 is given by Government of
Andhra Pradesh and ¥ 7000 is given by
the Government of Indja,

(3)

¢ 13,000 is given o a farmer's family in
four instalments every yoqy

[33)

s | 85,

84,

nf
a0, o A A hed S0, 6083 6 ey :
) )0 O

s (588 BOVIO0 oid 36
OO ¢30(%) Lm'? , SO0 00ch
o Y60 7 Hod
RO G0t

68 WSS DEOS0E TS,
w0l (HE4, BEOTE dothy e
fsyhdo TH W08 o

(1)

GOty .

w0 (WSS 208000 Hold 36

O oY@, Bvore
' Godol  0ddrs DO
 Nghsearr &otrd.

RN 2186 (e 20NN

D08, g B0¢H5,

B0 SHPLNOENLD.

@

AR AN AR T AINAL LN
HareTe §90 306608 80X -
520, B S5 B BB,

2 S0 Hood Sob wkses 0
N0NE ?

() 13500 28 B Sewordd WS
N0SYI0  arch ST
A JADER0B,

% 7,000 806 (T 520, ¥ 6,000
08 W20 10 ©oAN0B.

¢ 6,000 B0LEh (DT |9 S0, ¥ 7,000
W0 92 $0 ©0AN0.

13,000 28 By Kyenowrd @3
N0E 180

8 %08,

2)
t)

4)
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86. One

implemented
Pradesh i= not part of Navaratnalu.

(1)
(2}

(1)
(2)
(3)
(4}

The

Andhra Pradesh stands for

(1)

(2)

{(3)

(4)

8.

(1)
(2)
(3)
(4)

g90. Who

weightlifting fhampiun ot

10 hai
Pradesh 7 ails from Andhra
(1) Sathish Si""ﬂ]ingam
(2) Kunjaranj[)e,.

(3)
(4)

The following App developed by Government
of Andhra Pradesh is an SOS service for
women in distress or danger.

Areawise, which of the following districts of
Andhra Pradesh is the smallest 2

[ 3

of the following welfare programines
by Government of Andhra

Housing for all Poor
YSR Jala Yagnam
Aarogvasn

Vahana Mitra

Spandana
Bharosa
Disha
Prajwala

CCRC introduced by Government of

Crop Certification Residue Control to
certify organic farming.

Crop Cultivation Registration on
Certificate for pledging lands for bank
lnan.

Crop Cultivator Rights Card
providing assistance to lease-holders.
None of the above

for

Parvethipura, Manyam
Palnady

Annsmayya
Kurnoo)

among the following is 4 heavyweight

Dhruvy Chal-:ravarthi
Dandamyg; Rajagopal Rag

4)

00,

BG.

87.

88,

89.

A

e W) &

0| SIHTT a0
it 2,5¢3

8oB oD  sogSred
SSGmy e ariio 5.

(1) Heveosos aw

(2) P.d0.eb zoadhzo

(3)  esEig2

(4) &S 2ol

SO|SNTT (Do ©dSHye Ts Sod
Oirn add Bor (DG &) o
S0 2.5 04,00, TS

(1) $)0SS

(2) HOr

(3) &7

(4) (Do

&O(DIDDT |DZDSL0 1DBT LS D.Dh.ebl.
@0 '

(1) OBOH SIS AT GNE0cBETRE
Do) HYDEG wSFare Aoho|sm.

erjod S0 §PHo Frdned =i
LTI HODESD Do D1 SIS,

SO ATcho @ododadd
208 AL FBne 5.
DI 5

(2)
(3)

(4)

oo, SO|SINTTS D 20d Eﬂf;’@?
D8 DG H 2

(1) IEIBHE0 39850
(2) ey

(3) H;ﬁl;&},ﬁ}s

(4)  Sbryey

8086 b6
IS Japes
(1)

(2)
3)
(4)
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al.

93.

Part D
Geography

Consider the following statement and answer
the question.

Statement :

It took more than a million years for the world
human population to attain the one billion
mark. But it took only 12 years for it to rise
from 5 billion to 6 billion.
Which of the following time period can be
represented from the statement ?

(1) 1950 - 1963
(2) 2008 -2021
(3) 1987 -1999
(4) 1990-2012

According to the Scheduled Castes and
Scheduled Tribes Orders (Amendment) Act,
1976, how many Scheduled Tribes are notified
in the State of Andhra Pradesh ?

(1) 31
(2) 33
(3) 33
(4) 29

As per Census of India 2011, which of the

following group of States and Union

Territories does not have Scheduled Caste

Pnpuiatil_‘:rﬂ?

(1) Nagaland, Sikkim, Tripura, Lakshadweep

(2) Nagaland, Lakshadweep, Andaman and
Nicobar Islands, Mizoram

Nagaland, Lakshadweep, Andaman and
Nicobar Islands, Mizoram, Arunachal
Pradesh

(3)

Dadra and Nagar Haveli, Andaman and
Nicobar Islands, Tripura,

(4)

Mizoram

{ 35)

92.

93.

ﬂll

QD

(i@
808  (DEOS HOMEAOBOd,  1H3y%
H 3P0 AB00:
(S5

£ DOMS Srey),

Hot5 ISP BT &S < 2
LE?;%‘;‘:H'K)Q 2,8 OADS VOIS oo S0ty
Jopss DA H8308. TV ©8 5 DO
508 6 DOCHAW ROHFRAE  $3e0

12 H03Sy0en HHOO.

808 FES D DD SOV DHILS 2od
HPOOoTNTR) ? '

(1) 1950 - 1963

(2) 2008 - 2021

(3) 1987 -1999

(4 1990 - 2012

2drS Heren, NEMO Sio o
(D362) SO, 1976 HFG0, SOBDDS
TR0 D) NEFES Sifexn SB DFD?

(1) 31
(2) 33
(3 35
(4) 29

2011 2788 zayr TE o (D500 folw
OlFe, Sodrds |romod Ee i
Soere zarer OO S 2

1) &rerob, 80, BHG, 5D

@) Trerod, oE S5, wodirS. MO
BHen, w0

Frreros, 05D, woddTd, ngrd
B9en, MEO, wiyepr s DBT
U, S8 SO, erosSrS, o5rd
BFen, B8, 2osiso

(3)

(4)
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Mateh the fa*lﬁowins (Sex Ratip) ;

Ligs 1 Lis2 [1
a. Pl:i:'".l‘::‘.':e.-::r 1. 983
b. Tamil Nadn 1. 1037
¢ Lakshadweep  IIL 996
d. Andhr; Pradesh IV. U8
Choose the correct answer using the codes
given below -

a b c d
(1) I Il v 111
@ . O 1 VI
(3) I I IV I
(£ 1 I ITI v

Whart percentage of rail routes were electrified
in India by March 2019 ?

(1} =5%
(2) S0-91%
(4) 62-12%

Match the following Coal-based Thermal
Power Stations and their States -

ist I
':[ - ListII
{Thermel Power o
Station) (State)
a. Rudgi I.  Chhattisgarh
b. Hahzlgaon I Esraatibe
c. Sipat . U.P.
d. Dadri IV. Bihar

Choose the correct answer using the eodes

a b ¢ d
(1 I II m I
2y 1 Iv I I11
(3) IV II II1 I
2y I v 1

96.

808 330 na Tobod ol DY) :

::':’-"EJE'I ﬁ‘EUE" I
2 DT L
b. SQdT 1L 1037
e. ©ZOO III. 996

A 2352088 F0d adHTrHod dT

JNFTTR) JONE0S

a b c d
(1) 1 11 IV I11
2y II 1 IV 111
W3y II 111 IAY I
(271 II 111 IAY
Jr8) 2019 o838 OS890 Joss TS0
S0 ArFren Ae0LAE80TE ?
(1} 45%
2y  5091%
3)  7590%
4) 62-12%

& S08 [H e BHBS  H36

=5

VAR 58 Tros H85 0108 -

r;;ﬂ;}' e Il
HoPsTo) ’
e (o arev)
a. A8 L 38068
b. &5ers II. sgrend
c. DS III. G,
d o V. D56
?;:-T&ﬁ RIAS EBer%s SJTrNOD HBS
VTR QoHTod

a b c d
G A m v
B} by I I
G m
(4) II v
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97. Match the following : 07,
M”'_Fmd‘q of Agricultural
Agricultural Geographer
Regionalisation
a. Crop 1.  Weaver, Doi
combination
b. Crop I, Bhatia, Jasbir Singh
diversification
¢. Crop 11I. Chisholm, Bhatin
concentration
d. Agricultural V. Kendall, Majid
productivity Husain, Jasbir
Singh

98,

Choose the correct answer using the codes
given below :

a b . d
(1) 11 I v I
(2) 1 II 111 IV
(3) I 11 I IV
(4) 1 11 IV ITI

Which of the following type of grassland
separates Cold Asia from Dry Asia 2

(1) Steppe

{2y Taiga
(3) Tundra
(4y Prairie

According to the Indian Forest Act, 1927,
which of the following is the most appropriate
sequence which shows the degree of protection
between different forest types ?

(1)  Reserved Forest > Protected Forest >
Village Forest

{2y  Protected Forest > Reserved Forest >
Village Forest

(3) Reserved Forest > Village
Protected Forest be fiegle

(4) Village Forest > Proteeteq
Reserved Forest Forest >

99.

(2]

2ol el aeb il ¢

rj,rn‘ﬁii}'l." ,I.TJ' 2 :'fn t; ,—’.‘)‘ﬂr L
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B ad st Ebod GHdirfiod Yl

HEFOTR), OS5

n b C d

(1) III IT v I

2 1 I1 I11 v

3y III 1I 1 IV

{4 I I1 IV ITI

2808 >83S° O S5RS #G Prdven SR
SDHETS G BVOST ok Fdh Tow ?

1) )
2 B
(3) o
4) |8

2rES &S SQO, 1927 |H5E0, IDS 65O

®6d dxo Gy 68e Fond Srdod

806 8BS ®Siod JSNDSDS (SN0

& ?

(1) 8285, BN > 68& rdw > DoE
oY

(2) 68 0D > daby, 0P > JOL
R

@) 0265, IOV > TS oY > 68
>0

@ TS TP > 68 0P > 0204
e
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(38) [A]
100, Which of the following tdicator species 1 [ 100, so[d i EesD Fdotitad ;6 Jdhdd b, ¢y
nod found iy Srvenkateshwara National Pack S (R0 Q0D sitthiey W) HRmOh ?
t"'t‘ *“'L“!.i,hni ¥ r 1:' x:;:t T p
S (D 8O
Y Waoad stork "
4 {*" 1:..15':-.1 m'..it’:ﬁi_'..ﬁu‘l'ﬁ
- 1:‘}"'-‘3-‘5- t“t."h.:ni \."“‘Ll‘i . {"
s iz : IWa o
% Red sandors U O8% WDrodh)
\“Il.ﬁ' 511“.':&{."‘1‘ It‘ﬁ"h‘ "-41 1":“;:""1 I::a{:'} ﬂki‘ijf:ﬂ
T . ': Lot 800 oS Jd S davar 800
. Which of the following is the first pipeline e
) I 1.t - 1:“ ‘tuﬁ tmiihe fwhl 11.“ - ar3S3H0S DOIOON Andhe3 WS ) 7
constructad in India for the transportation of '
crude ofl T (1 Ao & - Sabrd
(1) Mumbai High - Rayoli @ Sradfor - Daryb - widadyrd
) Hajira - Bijapur = Jagdishpur @ADL - o - U’
(3)  Naharkatia - Nunmati - Barauni W MO - SR
) Al ekl = L".. 1 P - I
(AF  SsnagarsSan 102, SoIQNET 88 ehed et
102. Andhra Pradesh is the sole producer of (1) 3.;1':(;'.-_&5 3
(1) Baryvtes (2) T
{2y  Apatite (3 WO PRS0
(3) Ironore @ s &5
(4) Granite :
108, r3S5308'D aH-aRdode |DoTed
103. Which of the following factors are responsible FORN aRDode L_S‘J'Dﬂ'ﬂ;? eoddE TOH
for the hi.gher Sugarcane production in S8 80 SE5eD DD S*BNHTON 7
tropical regions as compared to sub-tropical o .
adons o Tdin L )MV easrdod B orldhen
T Cool nights with clear skies I eogodydo
11.  Latitudinal position 1L Ardsd3) obuyes tioten
111. Long hours of sunshine V. Qs ﬁ%‘Lﬁé’ @;’J‘:}T‘ﬁé
1v. High temperature disparity &S AI5BS FhHed andirfiod NS
Chms:: ]tlm Qrrect answer using the codes OIETTR), Johsod :
given below:
(1) 100 .
1y 1 and 11 only B 11 & [_:-‘_'%Ei}
@ L 1and 1l op)y (20 1110005 [11 Srvead
(30 1, Hlandy only (3 LI odcsn 1V Srqedad
(4) L Iland]v gy, @ LI o0akn 1V soesad
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104. Who among the following made the first

105.

106.

attempt to demareate Indian Agriculiure into
4 macro regions ?

(1) Sengupla

(2} Sdasvuk

(3)  Jasbir Singh

4)  Sengupta and Sdasvuk

Which among the following statements are
true about Indian Steel Industry ?

1. India is the second largest producer of
steel in the word.,
1II. Indian  steel industry  produced

51-88 Million Tonnes crude steel with
5-1% share in the total world preduction.

I1I. The production of steel in the year 2020
is more than the previous year.
IV. India is ranked first in the production of

crude steel.
Choose the correct answer using the codes

given below :

(1) TandIlI
(2) I,MlandIIl -
(3) TlandIl
(4) landIV

Match the following Geographical Heritage

Sites with the States (location) :
Geographical S
Heritage Sites fales

a. Lonar Lake I. QOdisha

b. Siwalik Fossil Park 11 Rajaﬁt]mn

c. Akal Wood Fossil 11, Maharashtra
Park

d. Pillow Lava at IV. Himachal
Nomira Pradesh

Choose the correcl answer using the codes
given below :

a b c d
(1) 1 1] oy
(g9 nr IV o
(3) I v I I
@ m IV U |

(39 )

1.,

1006.

106.

A

8o 06 ardBah dEhrairdy 4 e

@roerenn thod S0GE 1H0HS L0 @)

it ?

(1) “wciba)

(2) gk

@) 200 dobh

(1) Retha) 0ok §gh

2rGA0H oy DOENH Mowodody Sob

¢3S D6 Dzo ?

L @by Gob)Bd rosdio Do)
06 God.

I 2rdadd afo) HoHd HSnéo 1DHH0L
s 1B 51% arerd 51-89 DOCHS
£303) 506 o) e dueb jed TRodb.

Il 2020 HODBIBOE Gy Cxedyed fidd
H0S5 80 50T DB},

V. 308 afy adé)Bd r8ssio
Fnesel s God.

B asia68 Fhod GdHBrNod SB

ASFoTR) JothSod :

(1) I o8csn Il )

(2) 1, 11 .00a8w Il

(3 I8kl

(4) 10b8ciwIV

B0H THDE 8188 WEToN olarod

(1HBF0) DO y0b

2TNPE TS0 s
(5T FeV Y0
8. Sarb DB, L 2.8%
b, 25 d 6y 11 oaye
05 HG rRd 1L Horoa
by
d S0 5@ DS IV, Hrsrdd (DG
e
BlHs 2d 500 SEO® adaihod S
RN ) Q0tO%0d .
i hl ¢ {1

2 m N

YR | 1V 11 1

@ ooy £ oh
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107. Which of the following geographicnl series is

108,

1G3.

110.

ftot related 1 Vindhyan system ?

(1) Bhander Series
(2) Bijawar Series
(3)  Khondalite Serics
(4)

Kainr Series

Which of the following are a result of
depositional activity of the Himalayan rivers ?

j River Terraces

II.  Braided Channels
III.  Alluvial Fans

IV.  National Levees

Choose the correct answer using the codes
given below :

(1) 1andIlonly
(2) 1, III and IV only
{3) I,II and IIl only -

(4) L ILIIlandIV
Which of the following Southern States shares

boundaries with maximum number of Indian
States ?

(1) Telangana
(2} Karnataka
(3) Andhra Pradesh

Tamil Nadu

There is a Place-A with longitude 060° West.

There 15 another Place-B with longitude
090 East.

If the local time at Place-A is 10 AM, what
would be the local time at Place-B ?

(1) 8PM
(2) 10PM
(3) 12PM
4y 6PM

| 40 )

107.

108.

109.

110.

808 ¢3S N 27 HRE 388 Docddy SpHddo
RNOV0GHO Ben 7

(1) oab Hhd

(2)  Dezrash DO

(3)  $HosBE vl

(4) B0 pOD

Bohare3dS’ Iraredh Sche HEd: B
NSO IEIB00 I ?

I 050 Tdoen

1. @O gpa3den

I, 2.01che083

V. 2rach 8HH

&S BS5085 Fhod adTriod BN
[AFTT) JotEO

(1) 15005 I Sredsh

(2) 11, 111 S0 cin IV Sredsh

(3) I, 110605 I S3rébah

(4) 1,11, ITI SBgin IV

806 o K8erd UlTen #0R Domys
arSeah oared DOIFDOD
2OTHEVoETON 7

(1) SBoors

(2) Egréesd

(3) esolBHTT

(4) S¥ordh

0ar0¥0 060° H23:00° |HB50-0 Gob,

090° &rdy) Tarodos B 1DB%0-D
Gob,
0TH0-d ¢ FVE HHSWO 10 &Sabo

WONS, HE%0-D SQ YOS DHCHo o
o0 ?

(1) 8 LTI
(2) 10 ﬁPmDLéU
(3) 12 Fﬁ‘{ﬁngéﬂ
(4)
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111. Consider the following statements regarding

112,

India :

1. India has an arca of 3-28 million sq km,
and accounts for about 2-4 percent of the
total geographical area of the world.

II.  The mainland of India extends between

latitudes 8°4" N and 37°6’ N and

longitude 658°7" E and 97°25" E.

Prezently India has 28 States and

8 Union Territories.

II1.

Which of the statements given above isfare

correct 7

(1) Ionly

(2) IandIlonly
(3) IandIIl only
(4) I, IIandIll

Aateh the following Irrigation Projects and
their States (location) :

Irrigation Projects States
s Parwan Multipurpose 1. Madhya
Project Pradesh and
Uttar Pradesh
b. Renukaji Dam Project II. Uttarakhand
¢. Lakhwar III. Himachal
Multipurpose Project Pradesh
d. Ken-Betwa Link IV. Rajasthan

Project

Choose the correct answer using the codes
given below :

a b C d
. 1 I1 I
) v I n
3) 1 v 7§ L
(4) I IV II I

(41)

111.

112,

A

rSSETE Howodod) 1506 (DEQSOD

HokeSosod

. résddo 328 IS  BEOY
s ddgo O @ob.
HHotoSD Bndo FNYE Jreods
ooy 24 Fého arér 5ON ¢od,

II. 2roet3d (ST Zrario
50T e 8°4' S, 37°6" H&S Oarodo
68°T" @, 97°25" @ DG VB0 HOL.

L (HuSo 2rdsddios 28 oaren,
8 So|Br D oz G OW.

2305 AD IS [DELSOS" DO DDSEDDSD ?

(1)  Iareah

(2) 10850 IT Sredad

(3) 15080k I Sriehsh

(4) 1,11 8c8» III

08 ABTOGe |FBPew, ¢ OvETen

(5540) D6&FO 06 |
DETDreh e ev
(D EPev 1

8. DS HOHGID I HSYHTS,
a8 &SENTT

b. Besed Gryed |85 1L adopod

. OB HOHED 1L oSS
28 Pfat]

d. S-Bers O08 |B§ IV, oS
Ol @H5a68 FhoD GHErAoD DB

Nerrard) dotvsod

a b c d
(1 I 11 III v
2 v I 11 I
3 11 IV 111 I
(4) III IV 11 I ’
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[42) [A]
113. Match the following Tiger Reserves with their 113. 806 b 80500 o8 U‘I_g"ﬂé‘
St— £ il g s )
nte:- (oeation) : 0o 080 {Lﬂﬁ'ﬁﬂj .
Tiger Reserves Stlates 216 6261) oY alen
i i
a. Perivar I.  Chhattisgarh 8, BEFS } ;;’)@E.}ﬁtfa
b. Sariskn II. Rajasthan T ' I 5
¢c. DBuxa III. West Bengal % POSTY 1 ‘TE@‘
d. Indravati IV. Kerala %i R UL ARG
d- I".IT., g’ﬁ'ﬂl
Choose the correet nnswer using the codes Bas
given below @ . . -
RO QAFPTTRINA) SONE Dol ;
n b c d a b c d
(1) 1 11 111 v 1 I 11 111 v
@ v 0 1 HI 2 IV I I 111
@ 1w i @ W I 111 S
4) v I 1 I @ W o 11 I
114. Phlogopite and Pegmatite minerals are related [ 114. ST 5, 2rmeS pderen 502080059
to (1) SOcho
(1) Petroleum 2 s
(2) Mica '
(3) 20D poz=o
(3) Ironore
i e (4)  ordo
115. Which of the following is currently the bipgest 115. $08 S8 DS0 e,rﬁé.ﬁé{}@‘ @aﬁ@
Thermal rl:;m?‘-;:; Plant (with an installed SRS BIB FodS (4,760 T s
apacily oV 4,760 MW) in India ?
cape i T0s08) D6 2
(1) Mundra Thermal Power Statig jarat
w, Jooi n, Gujara 1) 0oy $8;S 536 DS, H2oS
(2) The Vindyachal Thermal Power Station. v
Madhya Pradesh o B el ?};’:lrﬁ,
Sasan U] :"3“55@5'5
(3) Snst tra Mega Power Py 4 ¥,
pradesh P e @ OIS wg e 556 Fos,
Talcher = mﬁ&ga&
(4) T Super Thermal p :
Odisha JNer Station, W B8 26 365 536 BAS, 287
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116.

117.

118.

119.

120.

(4)

G/100
The greatest variety (diversity) of animal and
plant species can be found in
(1} Tropical Moist Forests
(2) Temperate Deciduous Forests
(3} Taiga Region
(4)  Deserts and Savannas
Seasonal differences are maximum in
(1)  Mid Latitudes
(2)  High Latitudes
(3) Low Latitudes
(4} Subtropics |
What is the proper river order from North to
South ?
(1) Chenab, Jhelum, Ravi, Sutlej, Beas
(2) Jhelum, Chenab, Beas, Ravi, Sutlej
(3) Jhelum, Chenab, Ravi, Beas, Sutlej
(4) Chenab, Jhelum, Beas, Ravi, Sutlej
Naupada Coastal and Marine Biodiversity
Area (ICMBA) is located in the district of
(1) Srikakulam
(2) Vijayanagaram |
(3) Alluri Sitharama Raju
(4) Visakhapatnam
Arrange the following constituents of the

atmosphere in descending order (in terms of

their quantity) :
(1)  Nitrogen, Oxygen, Argon, CO,

(2) COy, Argon, Oxygen, Nitrogen
(3) Oxygen, Nitrogen, COy, Argon
Argon, COj, Nitrogen, Oxygen

(43)

116.

117.

118.

119.

120.

(1)

A

20, Jpf. aréhe FD) BAYs0% 298¢
CrChaSthoy

(1) . edode S eoddaden

(2)  DDIEY BHOTB) etHen
(8) Torr|roddo

(4) AESen SHOCI AT en
20y Baren HOROT Gotran
(1)
(2)

NG WSOTEN

©HE wToTeD

(3) €503 wToTen

4) adERoderey

o280 Dot S8 IBS S (ESo
R R

() DS, B0, 63, S, Do

@) Heoo, Hrs, DAr, 59, KT

3) oo, A, 62, DAFD, SV

4) DB, Lo, HAFED, 6, SR
TH¢h A6 B DS BSBNESS (roso
(80.2.000.2).0).) & BPS GO

IS HHF0

azdhndo

(3) ©OPS T U

(4)  FTWIL)O

TESG005D 806 rrod esSfhro
ENVeTa) @050 (a7¢3 H03re06S) :

(1) IS, @dzs, sgs, Co,

(2) CO, oFTS, edjzs, BESzm

(3) abizs, BS=S, CO,y, 8T

(4) &S, COy, F(52S, 88)sa

(2)
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